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1. Introduction

Some remaining issues for Rel-15 SCell activation requirements are discussed in RAN4#94-e-bis. Most of the issues are settled and captured as captured in the WF [1] and further agreements in the chairman notes. One remaining issue is the assumptions on SSB pattern for FR2 intra-band CA.
In this paper we will provide our views on the assumptions on SSB pattern for FR2 intra-band CA.
2. Discussion
For FR2 SCell activation where there is active serving cell in the band, the requirement is 

	If the SCell being activated belongs to FR2 and if there is at least one active serving cell on that FR2 band, then Tactivation_time is TFirstSSB+ 5ms provided:

-
The UE is provided with SMTC for the target SCell, and  

-
The SSBs in the serving cell(s) and the SSBs in the SCell fulfil the condition defined in clause 3.6.3.


UE is assumed to directly do T/F tracking based on the timing and beam information obtained from the active serving cell. The SSBs in the serving cell(s) and the SSBs in the SCell should fulfil the condition defined in clause 3.6.3.

However, even the condition in section 3.6.3 is fulfilled, it is still possible that the active serving cell and the SCell are using different SSB patterns, i.e. the ssb-PositionsInBurst is different. This is shown in Figure 1. 
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Figure 1: Example of two cells with different SSB pattern
In this case even the two cells are using same Tx beam on the same OFDM symbols, UE cannot use the symbols for SSB#0 for activation of cell2 because cell2 is not transmitting SSB in those symbols. It would be unclear for UE where to do T/F tracking so the above activation requirement, Tactivation_time = TFirstSSB+ 5ms, cannot be met. For the requirement to apply, the SSB pattern needs to be same for the active serving cell and the SCell being activated, and we suggest to add this as the condition for the requirement.

In RAN4#94-e-bis, some companies commented that the issue can be resolved by network indicating the TCI state to inform UE which SSB to use, but we think it cannot solve the problem:

· In the current delay requirement, there is no time for the TCI state indication;

· Even the TCI state is indicated, UE still does not know which Rx beam it should use to do T/F tracking on the indicated SSB (index) because there is no SSB transmitted from the active serving cell on the same symbols.
Based on above, we still think “The parameter ssb-PositionsInBurst is same for the serving cell(s) and the Scell” is a necessary condition for UE to meet the current requirement for the case where the SCell being activated belongs to FR2 and if there is at least one active serving cell on that FR2 band.
Proposal: For FR2 SCell activation where there is active serving cell in the band, the requirements apply provided that the SSB pattern is same for the active serving cell and the SCell being activated.

3. Conclusions

In this paper we provided our views on the assumptions on SSB pattern for FR2 intra-band CA.
Proposal: For FR2 SCell activation where there is active serving cell in the band, the requirements apply provided that the SSB pattern is same for the active serving cell and the SCell being activated.
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